

Letting:

04220401

Florida Department of Transportation

04/01/2022

Page 1 of 1

Vendor Ranking

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 44925917201 (*)

Contract Desc: BROWARD COUNTY MANHOLE INLET ADJUSTMENT ROUTINE MAINTENANCE

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Winning bid	\$155,324.82	100.00%
2	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$219,465.00	141.29%
3	LEON AMERICA CONSTRUCTION	Responsive	Non-Winning Bid	\$248,310.00	159.86%
4	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$282,425.50	181.83%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 04/26/22 BEGIN TIME: 10:30 AM END DATE: 04/29/22 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$150,000.00 and not the contractors bid total.





Tabulation of Bids

Page 1 of 6

Letting: 04220401 April 01, 2022 **Call Order:** 005 **Contract:** E4V43-R0

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44925917201 (*)

Contract Descr: BROWARD COUNTY MANHOLE INLET ADJUSTMENT ROUTINE MAINTENANCE

The work under this Contract consists of providing labor, equipment, material, and incidentals necessary for maintenance and repairs of Manholes and Inlets throughout various locations in Broward County.

MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on maximum limiting budgeted amount of \$150,000.00 and not the contractors bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

GENERAL LIABILITY: The limits of coverage shall not be less than \$1,000,000 for each occurrence and not less than a \$5,000,000 annual general aggregate, inclusive of amounts provided by an umbrella or excess policy. The limits of coverage described herein shall apply fully to the work or operations performed under the Contract, and may not be shared with or diminished by claims unrelated to the contract. The policy/ies and coverage described herein may be subject to a deductible. Pay all deductibles as required by the policy. No policy/ies or coverage described herein may contain or be subject to a Retention or a Self-Insured Retention.

Line No / Item ID Alternate (Quantity Units	(1) ROGAR MAN	OF FLORIDA	(2) SHENANDO CONSTRUC		• •	AMERICA RUCTION
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (REP	AIR/REPL	ACE STRM-SIDE-	CROSS DRAIN(L	.F			
0005 0110 4 10 REMOVAL OF EXISTING CONCRETE	69.000 SY	31.00000	2,139.00	35.00000	2,415.00	10.00000	690.00
0010 0339 1 MISCELLANEOUS ASPHALT PAVEMENT	4.000 TN	1,000.00000	4,000.00	550.00000	2,200.00	500.00000	2,000.00
0015 0425 4 INLETS, ADJUST	24.000 EA	861.00000	20,664.00	1,300.00000	31,200.00	1,000.00000	24,000.00
0020 0425 5 MANHOLE, ADJUST	39.000 EA	800.00000	31,200.00	1,500.00000	58,500.00	1,000.00000	39,000.00





Tabulation of Bids

Page 2 of 6

Letting	y: 04	1220401	April 01, 2022	Cal	l Order: 005		Contract:	E4V43-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) ROGAR MAI CONSULTING	OF FLORIDA	(2) SHENANDO CONSTRUC			AMERICA RUCTION
	licates item is bio	d as Lump Sum	CC	Unit Price	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(REPAIR/REPL	ACE STRM-SIDE-	CROSS DRAIN(L	.F			
	0425 15 41 OP, REPAIR, (CURB INLET	11.000 EA	2,200.00000	24,200.00	1,100.00000	12,100.00	3,500.00000	38,500.00
	0425 15 51 OP, REPLACE	E, CURB INLET	12.000 EA	600.00000	7,200.00	2,300.00000	27,600.00	3,500.00000	42,000.00
		E, APRON FOR	4.000 R EA	2,200.00000	8,800.00	1,200.00000	4,800.00	2,000.00000	8,000.00
	0425 82 CE GRATE		20.000 EA	444.00000	8,880.00	1,400.00000	28,000.00	1,000.00000	20,000.00
	0520 1 10 ETE CURB & 0	GUTTER, TYP	70.000 E F LF	10.00000	700.00	65.00000	4,550.00	40.00000	2,800.00
	0520 2 4 ETE CURB, T	YPE D	70.000 LF	10.00000	700.00	55.00000	3,850.00	20.00000	1,400.00
CONCRE	0522 2 ETE SIDEWAL /AYS, 6" THIC		62.000 SY	74.61000	4,625.82	75.00000	4,650.00	60.00000	3,720.00
0060 REPAIR INLETS	E425 73 2 LEAKS IN MA	NHOLES AND	12.000 EA	1,260.00000	15,120.00	650.00000	7,800.00	1,500.00000	18,000.00
0065 RESET E	E425 73 4 EXISTING FRA	AME AND GRA	26.000 ATE EA	200.00000	5,200.00	550.00000	14,300.00	1,200.00000	31,200.00





Tabulation of Bids

Page 3 of 6

Lettin	ı g : 0-	4220401	April 01, 2022	Са	II Order: 005		Contract:	E4V43-R0	
	No / Item ID	Alterna	te Quantity Units	(1) ROGAR MA CONSULTING	OF FLORIDA	(2) SHENANDO CONSTRUC			AMERICA RUCTION
() in	dicates item is b	id as Lump Sum		Unit Price LL	.C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(REPAIR/REPL	ACE STRM-SIDE	-CROSS DRAIN(L	F			
0070 CLEAN (MANU	E425 73 5 IING MANHOLI AL)	ES AND INLE	19.000 TS EA	644.00000	12,236.00	250.00000	4,750.00	500.00000	9,500.00
0075 SECUR	E425 73 6 RE MANHOLE	'INLET LIDS	15.000 EA	644.00000	9,660.00	850.00000	12,750.00	500.00000	7,500.00
0001	REPAIR/REPL SIDE-CROSS		Section Totals:	l	\$155,324.82		\$219,465.00		\$248,310.00
		Contract C	Grand Totals:		\$155,324.82		\$219,465.00		248,310.00





Tabulation of Bids

Page 4 of 6

Letting	g: 04	4220401 A _l	oril 01, 2022	Cal	II Order: 005		Contract:	E4V43-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) WRA CONSTRUC					
() inc	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (I	REPAIR/REPL	ACE STRM-SIDE	-CROSS DRAIN(L	F			
0005 REMOV	0110 4 10 AL OF EXISTI	ING CONCRETE	69.000 SY	12.00000	828.00				
0010 MISCEL	0339 1 LANEOUS AS	SPHALT PAVEME	4.000 ENT TN	625.00000	2,500.00				
0015 INLETS	0425 4 , ADJUST		24.000 EA	1,570.00000	37,680.00				
0020 MANHO	0425 5 DLE, ADJUST		39.000 EA	1,650.00000	64,350.00				
0025 INLET T	0425 15 41 OP, REPAIR,	CURB INLET	11.000 EA	3,500.00000	38,500.00				
0030 INLET T	0425 15 51 OP, REPLACI	E, CURB INLET	12.000 EA	4,100.00000	49,200.00				
0035 INLET T INLET T		E, APRON FOR	4.000 EA	2,500.00000	10,000.00				
0040 REPLAC	0425 82 CE GRATE		20.000 EA	2,200.00000	44,000.00				
0045 CONCR	0520 1 10 ETE CURB &	GUTTER, TYPE	70.000 F LF	43.00000	3,010.00				



04/01/2022

Tabulation of Bids

Page 5 of 6

Letting:	04220401	April 01, 2022	Cal	l Order: 005		Contract:	E4V43-R0	
	/ Item ID Alterna	ite Quantity Units	(4) WRA					
() indicat	tes item is bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	SECTION: 0001	(REPAIR/REPL	ACE STRM-SIDE-	CROSS DRAIN(L	.F			
	520 2 4 E CURB, TYPE D	70.000 LF	38.00000	2,660.00				
CONCRETI	522 2 E SIDEWALK AND 'S, 6" THICK	62.000 SY	93.75000	5,812.50				
	125 73 2 AKS IN MANHOLES AN	12.000 ND EA	500.00000	6,000.00				
	125 73 4 ISTING FRAME AND GR	26.000 RATE EA	150.00000	3,900.00				
	125 73 5 MANHOLES AND INLE	19.000 TS EA	440.00000	8,360.00				
	425 73 6 IANHOLE / INLET LIDS	15.000 EA	375.00000	5,625.00				
	AIR/REPLACE STRM- DE-CROSS DRAIN(LF)	Section Totals:	I	\$282,425.50		ı		

Contract Grand Totals:

\$282,425.50



04/01/2022

Tabulation of Bids

Page 6 of 6

Letting: 04220401 April 01, 2022 **Call Order:** 005 **Contract:** E4V43-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.